

Multiple Reflections in Angled Mirrors
Example  (90° angle). Suppose an object is placed equidistantly in front of two mirrors that form a 90 degree angle. It has three reflections.
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Example  (60° angle). Suppose an object is placed equidistantly in front of two mirrors that form a 60 degree angle. It has 5 reflections.







General Rule. If the angle between two mirrors is a factor of 360 (1, 2, 3, 4, 5, 6, 8, 9, 10, 12, 15, 18, 20, 24, 30, 36, 40, 45, 60, 72, 90, 120, 180, 360), then the total number of reflections is finite and is computed as 360 divided by the angle minus 1. For example, if the angle is 90 degrees, then the total number of reflections is 360/90 – 1 =4 – 1 = 3. If the angle equals 60 degrees, the total number of reflections is 360/60 – 1 = 6 – 1= 5.

If the angle is not a factor of 360, then there are infinitely many reflections.

Example  (80° angle). Suppose an object is placed equidistantly in front of two mirrors that form an 80 degree angle. It has infinitely many reflections.











Example (parallel mirrors). Suppose an object is placed equidistantly in front of two mirrors that are parallel. It has infinitely many reflections.


Example (equilateral triangle).  Suppose an object is placed in the center of an equilateral triangle formed by three mirrors (like in kaleidoscope). It has infinitely many reflections.











reflection of object in mirror 1 =”reflection 1”











reflection of reflection 2 in mirror 1 =”reflection 4”
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reflection of object in mirror 2 =”reflection 2”
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reflection of reflection 3 in mirror 1 = reflection of reflection 4 in mirror 2
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reflection of reflection1 in mirror 2 =”reflection 3”
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